
1.2 1.1

1.3

1

2.1

2.2 2X

2.3 2X

2

3.1

3.3

4X 3.2

4X 3.2

3.3

3

1.4

Item Qty Part Number Description

1 1 3609886 Parking Brake Replacement Lever Assy w Grip, Shoulder Bolt & Nut

1.1 1 3609897 Parking Brake On/Off Lever Assembly

1.2 1 3601004 Soc Hd Shoulder Bolt, 3/8" x 5/8" x 5/16-18
1.3 1 3601027 Lock Nut, 5/16"-18 Nylon Insert, SST

1.4 1 3601067 Grip, Parking Brake Lever

2 1 3609887 Parking Brake Replacement Linkage Assy w Clevis & Cotter Pins

2.1 1 3609898 Parking Brake Linkage w Clevis & Threaded Stud

2.2 2 3601090 Clevis Pin, 5/16" x 7/8", SST
2.3 2 3601084 Cotter Pin, 1/8" x 1-1/4" Lg

3 1 3609888 Parking Brake Replacement Assembly w Mounting Hardware  TR460

3.1 1 3609899 Parking Brake Assembly

3.2 4 3601031 Carriage Bolt, 3/8"-16 x 1" Lg, SST

3.3 4 3601037 Lock Nut, 3/8"-16 Nylon Insert, SST

Sheet 1 of 1

TR460 PARKING BRAKE SYSTEM


	Sheet1
	Parts Diagram


